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eq:= x+y; | Maple 0 OO
eq:= x+y | Mathematica 0 OO

UeqUUDUODD x+yOUUODOUOOUOODDOOODOODDOODOx=1,y=20
O000 eqU eq(1,2) DODOODOODOODOOODOODODOODOODOODOOODOO
gbooooogn

subs(x=1,eq); subs(x=1,y=2,eq); | Maple 00O
eq /. x>1 eq /. {x—>1,y->2} Mathematica O O O

goboboooobboobooon

eq:= x—> x"2; eq:= (x,y) —> x+y; | Maple 000

eqlx_,y_]:= x+y Mathematica O O O

gbobobooogbbobogooboboooon

eq(1,2); | Maple D O O
eql1,2] Mathematica O O O

gboboboooobboogoobobod
Maple 00O f:= x> x20000000f:=x>x 3000000000000
O000000000 Mathematica 00 Clear[f] DODOOODOODODOOODOO



gboooogn
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gobboooobobbooobboboooobbbuooobbobooooboo

with(linalg); Maple O O O
<< Calculus‘VectorAnalysis‘ | Mathematica O O 0

Mathematica OO0 O O0O0O0O Calculus OOO0O0OO0DOOODOO VectorAnalysis O [
OoOooooo



O000oobO Maple DODOODOODO

ggooo

oooo(0o)

gooboooogobooo

+,-’*,/,A2abs(x)

oood evalf( ) evalf( ,00)
ooad Pi

oooad I

gdad infinity

o000 binomial(n,r)

00000 (100)

f:= x -> x"2+1

00000 (0oo)

f:= (x,y) —> x"2*y+1

gooo

sin(x) cos(x) tan(x)

ooooad arcsin(x) OO

ooon exp(x) 27°x

oooo log(x) 1logl[10] (%)

00 value (Limit (f (x) ,x=0))
ogdo value (Limit (f (x) ,x=0 ,1left))

00000 (0oo)

solve ({x+y=0,x"2+y"2=2},{x,y})

00000 (0o0)

fsolve ({x+sin(y)=0,x-y=1},{x,y})

00 (100) diff (f(x),x)

ooooo diff (f(x,y),x$00 ,y$00)
ooog int (£ (x) ,%)

Oo0oo(@oo) int (£ (x),x=0..1)

000 (0oo) evalf (Int(f(x),x=0..1))
Oo0ooog convert (f (x) ,parfrac,x)
Oo0oo00oon series(f(x),x=0,00)
ooooo jacobian([x"2,x*y], [x,y])




O00O00o0onD Maple DOODOOOO

ooooo 0000 (0o)
200000 plot(x~3+1,x=-5..5)
gbogo plot3d(x~2-y~2,x=0..5,y=0..5)

0000000 (100)

plot([x,x72,x=0..5])

0000000 (200)

plot3d([x*y,x"2,x+y] ,x=0..5,y=0..5)

ooo0oood polarplot (£f(t),t=0..2%Pi)

o0ooQg pointplot([[1,2],[3,1]1]1)

ooogag pointplot3d([[1,2,3],[2,3,4]],symbol=circle)
200000 implicitplot(x~2+y~3=1,x=-2..2,y=-2..2)
300000 implicitplot3d(x~2+y~2+z~3=1,(x,y,z000))
000 (0oo) contourplot (x*y,x=-5..5,y=-5..5)

000 (QOoo00)

contourplot3d(x*y,x=-5..5,y=-5..5)

O000o0oboOd Maple DOQODOQOGODO

goooo

oooo (0o0)

g

matrix(2,2,[1,2,3,4])

gobboobooogn

evalm(A+B) ,evalm(A-B) ,evalm(A~(-3))

gobobooodgn

evalm(c * A), evalm(A &* B)

gooo

transpose(A)

ooooog rref (A)

oo det (A)

ERERERE vector([1,2,3])

00,00 (00O030000) | dotprod(v,w), crossprod(v,w)
O0o00oooo norm(v,2)
0ooobooobogon eigenvects(A)

goobobooon

jordan(A,’P’); evalm(P);
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+,_’*,/,A,AbS[X]

goo

N[ 1 N[ ,O00]1

Oon Pi

ooood I

goo Infinity
HREREEN Binomial[n,r]

00000 (100)

flx_]:= x"2+1

00000 (0O0)

flx_,y_]1:= x"2xy+1

ooaad Sin[x] Cos[x] Tanl[x]

ooooo ArcSin[x] OO

o000 Expl[x] 27x

o000 Log[x] Logl[10,x]

00 Limit [f [x] ,x->0]

O0og Limit [f [x],x->0,Direction->1] (0O OO -1)

00000 (0o0)

Solve[{x~2-2==0,y"2==3},{x,y}]

00000 (0o0)

000000000000 (Mathematica) O O

00 (100) D[f [x],x]

00000 DIfx,y],{x, 00}, {y, 00O}

Oood Integrate[f [x],x]

000 (oOo0) Integrate[f[x],{x,0,1}]

000 ((@oo) NIntegrate[f [x],{x,0,1}]

Oo0oood Apart [f [x]]

Ooodogn Series[f[x],{x,0,00}]

oogoo 000000000000 (Mathematica) OO




OO000000 Mathematica OOOOOOO

oo0ooono 0000 (0o)
200000 Plot[Sin[x],{x,-Pi,Pi}
3000oo Plot3D[x*y,{x,0,1},{y,0,1}]

AhEEEEEREED

ParametricPlot [{x,x"2},{x,0,1}]

0000000 (200)

ParametricPlot3D[{x,y,x*y},{x,0,5},{y,0,5}]

ooogoooo PolarPlot[1+Cos[x],{x,0,2Pi}]

200000 ContourPlot [x~3-x*y+y~3==2,{x,-5,5}, *]
300000 ContourPlot3D[0 O ,{x,0,1},{y,0,1},{z,0,1},*]
oooono Graphics[{PointSize[0.05] ,Point [{1,2}]}]
oooo Graphics3D[{PointSize[0.05] ,Point [{1,2,3}]}]
oo0Do (1o0o) 2000000000=*0 Contours->{1,2,3} 00
ooD (200) 3000000000x* 0 Contours->{1,2,3x 00

OO00O0O0O0O00O MathematicaOOOOOOO

0oooo o000 (og)
00 {{1,2},{3,4}}
oooooooon A+B, A-B, MatrixPower [A,n]
O0o0b0ooDon c AJA . B
oood Transpose [A]
goooog RowReduce [A]
000 Det [A]
oood {1,2,3}

00,00 (00030000) |v . w Cross[v,w]

gogooobod

Norm[v]

goboobooogon

Eigenvalues[A], Eigenvectors[A]

gboogbogoo

JordanDecomposition[A]
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Maple DO 0O0ODOODO0OOO0OODOODODOOOOOODDODODOOOOOODOODO
O00000000000000D000000b0simplifyO) DOOOOODOODOOO
000000000 000000 expandO) DOOOOOOOOOOOOOOOOOO
O00000000000Oevalf(cos(1)) 000 evalf 000000000000
OOevalf(cos(1),20) U0 UDOO0ODODODOODOODNOsolve(x"2-2%xx+2=0,x)
(000)0 fsolve(x~3-x-1=0,x) (0 0 0O )0fsolve(x"3-x-1=0,x=0..2) (0 OO0
0)0000000000O0O0O0oOO0oDo0o0O000{x+y=0,x-y=2y 000 { } O
goddddbbbdddodoolguoooooooooboboboboboad
UO0D00O0ODigits:= 100; UUOODODO

fsolve() DO UOODOODOOODODODDOODDOODODOAx=0..2,y=-5..5 000
00000 Maple DOODOOODDOO0ODOOO0ODODOOODDOOOODODOOODODO1
guobbodgooobugobbuoobboobbuooobuooobuoobobboao
O00D0000000000000DO0Mathematica OOOOODODOOOOOOO
Mathematica OO0 O 000000 0O0ODOO0ODOOOOOOOOO

gooobobbbobobbbooddoooooboouoobbboboobboooggao
DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDf3;—1_1611:
0000000000000 Maple 13, Mathematica 7 D0 0O00OUOOO0OOOO
ObOoboo0boobOobOodbevalf(Int(f(x),x=0..1)) D00OD0OOOOOOO
int(int(x"2+y~2,y=0..x72),x=0..1); 000000 0O0OOO0OOO0OOO0OOO
ggd

O00000000000D00 jacobian() DOOOOOOOOOOOOOOO
with(linalg); DO DOO0O0O0OD0OO0O0OOO0ODOOOO0ODOO0ODOO jacobian()
O0oo0oboobobobobobobobbobob11b0b xlJobooooog
guoodoooobobobbooooog

O00000D0D0000D0000b000D0DbDO0O0 with(plots); DOUODODOOOO
gogodoooooobobbbbooooooouooa

with(plots);

pl:= pointplot([1,2],[3,-1]);
p2:= plot(x~3+1,x=0..5);
display(pl,p2);

000000oooooobobOoo0o00oooooooooooooooOoa
f:= x> diff(x"2,x); f(1);

0000022000 20 ¢x=10000000000000000000000
O0000000000000000000 f(o)DOODODODOODODOOO z2=100
gbboodbogoboooboouoobuooooobooboboobboann
OO000D0O0D0O0OMaple 00ODOO Mathematica DO0O0DOOOODOODOOOO



f:= diff(x"2,x); subs(x=1,f);

O0000f:x-> diff(x"2,x); subs(x=1,f(x)); 0000000 f(x) 00000
O00000O0subs( ) OOODODOOOOOOO

000000000000 (Mathematica)

Mathematica U OO UO0O0O0O0O0O0O0O00O0O0O00O00000O00O0OUSimplify[ ]
OO000D0O0D0b0b0ob00o0000O0DUODUDUD Expandl 1 000000
OO0 N[ JOOOON[Ces[1],50] DODODOOODOO 0O00O0O0DOO0O0DOOODOO
Direction—>-1 0000000000000 O000O00O00O0OSolvelx"2-2==0,x] OO
000000000000 000D00OD0000D0DO NSolvel[x"2-2==0,x] OOOOODO
OO00obO0bOOo0oboboooboobobooobooooDoMaple DO OODOOoOO
OO000000000000FindRoot [x-Sin[x]-1==0,{x,0,2}] OD0O0OO0OOO0O
00,2000000000000000 [0,2/0000000 20000000000
0000000000 000DObO00bOoOo00bb0oob0DOoO0oO0DOOogOMaple
O00ob0o0boO000udobobbbb0dOgd Calculus‘VectorAnalysis‘ [
O0000000 JacobianMatrix OO O DOO0OOO0ODOOOOODOOO 30000
Ooboobooboobboooobobobooooobooo ol lOobOOobObOODO
0000000000000 000DbO0 MapleODOODOODODOO

OoboobooboooobboooooboooobooooobboooboobDo
O0000000000000000000000(‘0 @O shit 00000O0O0O0)

Graphics ‘Graphics* PolarPlot OO OOOOOOODODO
Graphics‘ImplicitPlot* 200000 (ContourPlot DO O OO)
Graphics ‘ParametricPlot3D‘ | ParametricPlot3D, SphericalPlot3D [ [
Graphics ‘ContourPlot3D* obobo30booobooboon
Graphics ‘Graphics3D¢ gbobbooggos3bbodo

Mathematica OO0 OO0 00000 0O0OO0ODOOOOOOOOOOODOO

gl = Graphics[{PointSize[0.05],Point[{1,2}],Point[{2,3}]1}]
g2 = Plot[x"2,{x,0,2}]
Show([gl,g2] (g1 00D00OOOOOODOOOOODOOOOOO)

Mathematica 00 Maple U0 O OOOODOODOODOOOOOOOOO
f:= D[x"2,x] (Shift+Enter) £ /. x> 1

O00000f[x_]:= D[x"2,x] (Shift+Enter) f[x] /. x> 10000000 f(x)
dodoodoodboodbdbz=100000000O0

000000000000 (Maple, Mathematica)



Maple 0O 0OO0O00O0O0O0O0OO0O0O0OOO0OOOOevalm( )0000000000O0O
O0A,BOOOOODOA+B; OO0 A+BOO0O0O0O0OOOOOOOOOOOOOOO
O00Oinverse(A) OO A™(-1) DODOODOeigenvects(A) DD DOOODOODOODO
A00O000O0000000000000000000000000O0OoOoO0o00ag
00000000000 0000O0O00 1001000000000MapledOOn
O000000000000000000D000000D0DO000 00 Mathematica
oooooooo

Mathematica OO0 0000000000000 //MatrixForm OO0 O0OOO
O0000000 InverselAl] DOOO

gooobod

1. 00000000 y=a3+22—z+1 .
000000z=10000 y=4z—2 /
00000000000000000
ooo. - —

plot ({x"3+x"2-x+1,4*x-2},x=-2..2,%); | Maple 0 O [
Plot [{x"3+x"2-x+1,4*x-2},{x,-2,2},*] | Mathematica O 0O O
0000000« 00000000000000O0O00O0O0O00O0000000000

OO00000000OMaple, Mathematica DO 0OO0OOOOOOOODOOOdisplay,
show 000000 0O0ODOO0ODOO0ODOODODDODODOODOOMapledng

thickness=2,resolution=300,color=blue
oodooooooooooooooooo
macro(color1=RGB(1,1,0.5));

O00O0O0OO0Ocolor=color1 DOOOOOOO. DOOORBUOODOODOOODOO
O00ooooooooog
Mathematica 0 OO

PlotPoints->50,PlotStyle->{Thickness[0.01] ,RGBColor[1,0,0]}
Oodogpooooooogooog
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2. y = sin(x) + cos(x) + 2 cos(2.2z) O ™
dddooooooooooooa g \
0000000000000, AN

U/

/”r‘
\/

OO0 Maple OO0O0O Mathematica O 0O 0O OO

f:= sin(x)+cos(x)+2*cos(2.2*x) ; f:= Sin[x]+Cos [x]+2*Cos [2. 2%x]
plot(f,x=0..6); Plot[f,{x,0,6}]

g:= diff (f,x); g:= D[f,x]

al:= fsolve(g=0,x=0..1); FindRoot [g==0,{x,0,1}]
evalf (subs (x=%,f)); £/ %

(0) (0)

ab:= fsolve(g=0,x=5..6); FindRoot [g==0,{x,5,6}]
evalf (subs(x=%,f)); £/
3. 00000000000 z(t) =
sin(t)+exp(—t), y(t) = cos(2t)+sin(t) p—
(tel0,2) 000000000000 |
0. 0dooooooooooooo
gdoooououoo. ouooooo
gdooooooooooooodo 5
00000000000000, 1 \

00 Maple 0000 Mathematica 00O 0O OO

x:= sin(t)+exp(-t); x:= Sin[t]+Exp[-t]

y:= cos(2*t)+sin(t); y:= Cos[2*t]+Sin[t]

F:= diff(x,t)"2+diff(y,t)"2 F:= D[x,t]"2+D[y,t]"2

evalf (Int(F~(1/2),t=0..2)); NIntegrate[F~(1/2),{t,0,2}]

4. 00O Owith(plots);(Maple)d << Graphics ‘ContourPlot3D‘(Mathematica) O
000000 bOo00o0obooobobboooobbOoonbnodMathematica 7 00
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ContowrPlot3 D OO0 OO ODUOOODOOOOODOO.

00 z=a—2xy+1y’ -y, z2=2—3*x22xy+ 1+ 322000000000
goog.

OO00D000D000000O0O00O0000d. Mapled Mathematica 0 O O
plot3d(x~3-x*y+y~2-y,x=-1..1.5,y=0..1.5,%);
plot3d(x"3-3*%x"2*y+y~3+3*x72,x=-1..1,y=-1..1,%);

* [ axes=frame,grid=[20,20],color=x 00000000000
Plot3D[x"3-x*xy+y~2-y,{x,-1,1.5},{y,0,1.5},%]
P1lot3D[x"3-3*%x"2*y+y~3+3*x"2,{x,-1,1},{y,0,1},*]

* 0 PlotPoints->50,ColorFunction->Hue 00000000000

OO0D000000D00OMapleDODOOOODOOODOO export O eps DOO

O0000000. Mathematica O 0 Export["C:\Home\gazou.eps",%] 00000
0ooo.

5200000 v° — day(y? — 2%) +
27° =0 000000000000. :
0000O0000O0o0ooag. o

-0.8 -06 -0 =0.2 0. 4 0.6 0.8
‘\ x
—0.5- \ _J
N

0 O O Maple, Mathematica O O O

implicitplot (y~5-4*x*xy*(y~2-x"2)+2*%x~5=0,x=-0.8..1,y=-1..2,%);
ContourPlot [y~ 5-4xx*y*(y~2-x"2)+2%x~5==0,{x,-0.8,1},{y,-1,2},%]

* 00 grid=[100,100], PlotPoints->{20,20} O OO O0O.
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6.200 300000 23 +y*t—22=1,
ry+rz+yz:=3000000000
ooooooooooo.

Oo0O0ooOoooooooo.
Maple OO O :

pl:=implicitplot3d(x~3+y~4-z~2=1,x=0..2,y=0..2,2z=0..2,%):
p2:=implicitplot3d(x*y+x*z+y*z=3,x=0..2,y=0..2,2z=0..2,%);
display(pl,p2);

* 00 color=red, color=blue U0 0ODO0ODO.

Mathematica 0 O O :

pl=ContourPlot3D[x"3+y~4-z"2-1,{x,0,2},{y,0,2},{z,0,2}]
p2=ContourPlot3D [x*y+x*z+y*z-3,{x,0,2},{y,0,2},{z,0,2}]
Show[p1,p2]

O0000O0000000O0OContours—>{0.0}, PlotPoints-{20,20,203 0000
0. Mathematica OO0 000000000000 OOOOOOOOOOO0OO

gbobobuooooboouooooboobod.

Maple O OO :
with(linalg);
A:= matrix(3,5,[1,2,3,4,5,2,5,3,4,1,0,-2,4,3,7]);
rref(A);
oooooon
1 2 3 4 5
2 5 3 41
0 -2 4 3 7
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gbooboogo.

with(linalg);

A:= matrix(3,3,[1,2,3,4,5,6,7,8,9]);
B:= diag(2,5,3);

evalm(A~2 &* transpose(B));

det(A);

gobooo
1
4
7

O000A*B,det A 0D0O0O0. ADOOOOOD 100000 10000000
eigenvects(A) DO O0ODAOOOODOOOODOOOODOOOODOODO. 100
O0O00OMaple DOODDOODOOOODOODDOOODOODO. DOODOOO
sogboobboobuoobooboobboobooboobboobo. bo
gbobobooogooobod

with(linalg);

A:= matrix(3,3,[1,2,3,4,5,6,7,8,9]);
jordan(A,’P’);

evalm(P) ;

00000AOD0ODDOOOODOO JOOA=PJP OO0 POODODO.

Mathematica O 0O O :
O00000oUooUooUooUoouoouoououoooo.

A= {{1,2,3,4,5},{2,5,3,4,1},{0,-2,4,3,7}}
RowReduce[A]//MatrixForm

A= {{1,2,3},{4,5,6},{7,8,9}}
B= DiagonalMatrix[{2,5,3}]

A"2 . Transpose[B]//MatrixForm
Det [A]

A= {{1.0,2,3},{4,5,6},{7,8,9}}
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Eigenvalues[A]
Eigenvectors[A]

A= {{1,2,3},{4,5,6},{7,8,9}}
JordanDecomposition[A]

gbbooooboboboooobobod.

y' +y=0, y(0) =c, y(0) =2
O0000000000000000 ce000D0D0O0O00OOODODOOOOO.
Maple O O

eq:= diff(y(x),x$2)+y(x) = 0;

sol:= dsolve({eq,y(0)=c,D(y) (0)=2},y(x));
with(plots);

f:= unapply(rhs(sol),x,c);

plot({f(x,c) $ c=1..5},x=0..6);

plot ({seq(f(x,c),c=[1,3,4])},x=0..6);

ooag.
Mathematica O O

eq= y’’ [x]+y[x]==

DSolve[{eq,y[0]==c,y’ [0]==2},y,x]
Last[Last[Last[Last[%]11]

flx_,c_1= %
Plot[Table[f[x,c],{c,1,5,1}],{x,0,63}]
Plot[Table[f [x,c],{c,{1,3,4}}],{x,0,6}]

goo.
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